Q.1

N.B:

Q.P. Code :19575
[Time: Three Hours] [ Marks:100]

Please check whether you have got the right question paper.
All questions are compulsory.
All questions have internal choice.
Draw neat diagrams wherever necessary.
Use of simple calculator is permitted.
Figures to the right indicate full marks.

agkrownE

A) Select the best answer from the given options and rewrite the statement. (Any Ten) 10

i)

i)

Opportunity Cost is the ------------ .

a) Price of a good or service

b) All out—of—pocket costs

c) Value of the best alternative sacrificed
d) Price that exceeds market price

If Kommoner’s lowers the price of its pizzas, ---==--=------ )
a) Demand for Queen’s pizzas increases

b) Demand for Kommoner’s pizzas increases

¢) Demand for Queen’s pizzas decreases

d) Bothbandc

The supply curve illustrates how------- >

a) Quantity supplied increases as price decreases

b) Quantity supplied increases as price increases

¢) Quantity supplied increases as technology improves

d) Quantity supplied increases as resource price decreases

Demand is relatively inelastic when -------------- .
a) Edq=1

b) Eq>1

c) Ea<1

d) Ea=0

When a 1% change in price leads to more than 1% change in quantity demanded, we
say demand iS------=---------- :

a) Relatively elastic

b) Relatively inelastic

c) Unit elastic

d) None of the above
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vi)

vii)

viii)

Xi)

xii)

Q.P. Code :19575

Delphi method is a ---------- .
a) Survey method

b) Statistical method

c) Bothaandb

d) None of the above

For Ford Motor Company, all of the following are sources of economies of scale
except ------------ .

a) Mass production techniques used in the manufacturing of autos

b) Bureaucracy and red tape encountered as the firm becomes larger

c) Learning by doing which allows workers to become more productive

d) Additional specialisation made possible by large scale production

The negative slope of the iso-quant is due to ----------- :

a) Diminishing marginal rate of technical substitution

b) Zero marginal rate of technical substitution

c) Marginal rate of technical substitution is greater than one
d) None of the above

When a firm experiences economies of scale, -----=-----=--------- :
a) The long run average cost curve slopes downward

b) The long run average cost curve is vertical

c) The long run average cost curve slopes upward

d) The long run average cost curve is horizontal

An economist would argue that accountants tend to ----------- :
a) Understate costs and overstate profits

b) Understate costs and understate profits

c) Overstate costs and understate profits

d) Overstate costs and overstate profits

Sunk cost means ------------- )

a) Cost that is recovered

b) Cost of foregone alternatives
¢) Bothaandb

d) Neither a norb

Breakeven point is reached when a firm----------- .
a) Earns zero profit

b) Covers fixed cost

c¢) Covers variable cost

d) All of the above
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B) Match the concept with its appropriate definition/explanation/description. Any Ten.

Concept Definition /Explanation /Description

)] Opportunity cost a] Cost of an additional batch

i) Graph b] Value of the best alternative sacrificed

iii) Law of supply c] Delphi method

(\%)] Perfect competition d] Price line

V) Survey method e] Initial cost of buying an asset.

vi) Promotional elasticity of demand f] Price and quantity supplied are
positively related

vii)  Iso-cost line g] Impact of change in advertising
expenditure on quantity demanded

viii)  Internal diseconomies of scale h] Benefits of joint production

iX) Economies of scope i] -~ Cost-volume profit analysis

X) Historical cost jl Horizontal demand curve

Xi) Incremental cost k] An increase in the scale of production
of the firm results in rise in cost per
unit

xii)  Breakeven analysis I] Diagrammatic representation of a
function

Q.2 Attempt Aand BOR Cand D
A) What is business economics? Discuss the relationship between economic concepts and
business decisions.

B) Given the following data. Calculate TR, AR, and MR. Explain the relationship between
a) TR and MR and b) AR and MR

Q 1 2 3 4 5
P 100 90 80 70 60
OR
C) The following table describes the market for floppy discs before pen drives were
introduced.
Price (Rs) Quantity Demanded of floppy Quantity Supplied of floppy
discs discs.
100 1500 700
200 1300 900
300 1100 1100
400 900 1300
500 700 1500
i) Plot the demand and supply curves from the table given above.

i) What is the equilibrium price and equilibrium quantity?
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i) At the price of Rs. 200 what is the equilibrium quantity demanded and quantity
supplied?

Iv) When pen drives were introduced the demand for floppy discs decreased. Does
the new demand curve shift to the left or right of the original demand curve?

D) Using diagrams explain the causes of changes in demand in terms of movement along 07
and shifts in the demand curve.

Q.3 Attempt Aand BOR Cand D

A) What are the determinants of demand? 08
B) Given the following data, calculate price elasticity of demand for wheat when price 07
increases and when price decreases. State whether the demand for wheat is elastic or
inelastic.
Price of wheat Market demand for wheat
15 5000
20 4500
OR
C) What is demand forecasting? Explain the various types of demand forecasting. 08
D) Explain the least squares method of demand forecasting. 07
Q4 Attempt Aand BOR Cand D
A) What are isoquants? Explain the properties of isoquants. 08
B) Explain the law of variable proportions. 07
OR
C) Explain the least cost combination as producer’s equilibrium. 08
D) Explain external economies and diseconomies of scale. 07
Q5 Attempt Aand B OR Cand D
A) Distinguish between short run and long run costs. 08
B) Given TFC as 55 and the following data, calculate TVC, MC, AFC, AVC and AC 07
Q 1 2 3 4 5
TC 75 90 110 135 170
OR
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C) Derive the LAC curve using the short run average cost curves of a firm. Why is it called
a planning curve?

D) What is the learning curve? Explain with a diagram.

Q.6 Attempt A and B OR Write short notes on any four.

A) Explain changes in equilibrium due to:
a) Changes in demand and
b) Changes in supply

B) What is the breakeven point? Using diagrams explain how the breakeven point changes
when there are changes in price and variable cost.

OR

Q.6 Write Short Notes. Any Four

i) Functions and equations

i) Steps of demand forecasting

iii) Types of isoquants

Iv) Internal economies of scale

V) Fixed and variable cost

vi) Limitations of breakeven analysis
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[aa‘: o ae ]

Please check whether you have got the right question paper.
=T %) T T AT AT
R) Td FEHT I T 3T,
3) TR T GoIeh HTHAT HIal,
%) HTEAT 10T AT STIE HUATE TR 3T,
Y) ISTeftehgiet e quf 10T SifordTal.

w.e  foicar Ty A ST fHae S areal U6t forel. (SRIVTAET 38T

a) I&q fehal ga=ht fehra

b) a1 Rawrdia @

¢) TN hoiedT el JaTe Hed
d) TSI fohmeht v 3iferes fohma

2) o8l ML AT U= fohrra sl shal---camemmmnv .
a) =T fugET=LT Aol aed
b) =TT Uz AW arEd
c) Feiea fUger= AFTof Jed
d) arel b AT ¢ v

3) ST a5k T wor el i
a) TohHd BRI YAt HET e
b) TRHd Fee™ AT HEAT dTed

¢)  EARIHT FEROT HIeA LA T dTed
d) ScUTe eI fohHdl HeeaT Tagar= € ared

AR I R B TR [ o o i 12 [ [ — ,
a) Ed=l
b) Ed>1
c) Ed<1
d) Ed=0
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Y) SteaT fehadiefiet % % TacTHes HITUfi=T TRETOTT %% Sae Sral degt STTaUT HRTOfielT 18 Harerar
a) SAfRIF AaraH
b) 3ferek At
c) Ueheh AdT<h
d) SeTieht et

&) STh! 95T (Delphi method) TR T ---cmmmmmmmmieee .
a) TN TG
b) HEARIET 9gd
c) e a ST b
d) SOerieht et

\9) WIS AT ShU=TET3T WIciIeTdeh! T THTUM=AT Sl &d 3ATad 3187 (ATATE) - mmmm--
a) TTSAT=AT SCUTETETS! AT TeteT SeATeATe 3THeh o
b) ST HIGAT FHIVITT TGN HIhRITE! ST TEETIIVTT HHET IEHaeT
¢) SHIFTRIE ScaTashdl STTWAT [1ehedT dTed
d) TR forererTom Higa SaTodieT Scdte TR 3Tt

C) HHacdlad dghl<] HlenlL Sdldl HHAQl bVl ~---—=--oem e ¢
a) MRTS = ¥ed @&y
b) MRTS = [ &&q
¢) MRTS &1 THIuET A1
d) et AT

%) oRT IEATE ST THIOTT=AT STl STHA, - memommem ,
a) SeIeRTeAT TLER] T o3k Satdr 3TEdr
b) STl TUEH @E oI5k SHT e T
¢) SEIFTAT TER T I3k T HATHRET STl
d) SelpreflT ware e sk frdist aHiat stEar

%0) UHTET TR HTHE Sth hict ohl AR GATHD —--memmmmmmmemm .
a) THRITAT ST ST Tt ST e STTsa
b) ST SATIUT T SENHT ST it STTse
c) Tt TR ST THITeT FHT e SIS
d) @ SATOT 6T ST AT e A5
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d) afe T smfor b & T

§3) ICATE T B Tofg STH T SFERT - _
a) [ THT FHHAA
b) TR T W& wred

¢) SEAdT T WE FHled

d) et ad

B)HeRIHT SATIOT =T W16 AT / fosuT / i S[aalT. (ShT0Td et 28T )

TR T / fasgwor / avia
%) "t @ a) IATereF=aT G / T @
Q) AT (ITH) b) A TR AN Hed
3) agamE | ¢) ST USd (Delphi method)
%) qof et d). fehwe T
Y) FEEI IEd e) HICTH ST sheT=l GLalTdi= &=
&) ATTUf Jad- Aafaehdr f) fehHa ST qLaraT aREToT ArHefer eeTeHes Hey
o) FH-TE T g) ST EeideIaet ATCATHos HITUM=AT qiCATOTd
AT Sged
¢) THTOTF=AT Sl serre h) HIH SCATEATS B
R) YHTUTT=AT STercf=ll SATdehd i) TE- T UTdest s
O RULHITERCES i) ferdist gwiar grToft orsh
%.%) AT T (FshHee I ) k) SCATEAT=AT JHTUIA a6 e Ifd 777 @l gieteft
e
8 %) T foig fersemor 1) STTeRd=AT RN %ol h v,
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g3 A 3 B fekar ¢ =1t D . 3 el s forer.
A) STTHTI ST FEUS 1?2 IATIeh HehodaT ATUT sFawTies ot Jraefier deiemer ==t s, ¢
B) WTefier ATfeci=at ST TR, AR HTM0T MR = 70T 1. qElatishl arimefier deie fawa . 9
a) TR 31T MR, 2ATfor

b) AR ATT MR
Q 1 2 3 4 5
P 100 90 80 70 60
C) T qeheaTed U STgeg =T ST FeA Tl TStk =T STSire) ovi shel 37T, ¢
oI (Rs.) AT =T HETOR= ST | e =T QU g A= S8t

100 1500 700

200 1300 900

300 1100 1100

400 900 1300

500 700 1500

%) I qehcTare RN SAT{OT ST <Ish el
R) Wl fehAd ST ot JRTUf SATfOT qrargaTeh S fordt 3ATe?
3) SEEAT 00 &, Tohwe e AR S0 qLagaT= HeAT fofd 3112
¥) SISET SISTRIA U $1568 ST FaATd! f&eeh =i arTofi=l aRHTor shel STe. ATHeS Hed HRTf
ICHTOT ST FATC. ATHob Hed HITUN oI5k STEAT fohal SSTeaT SITS[eAT Elehat?
D) ST ST & IO FehTel SIATALor ST Ushtel HTTft Ishrariel ATTofi=t grerenet offor
AT H fog A
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¥.3 A 3fr B fekar ¢ ifor D am werih 3 forr,
A) i it w2 v 3TRd?

Q.P. Code :19575

B) fecrean miediear et Siegt fohma ared TfoT s dogt Tear=n Afi=t Safushar AT, THE
A 61 TeRTETE] AT SAeIf<reh T8 ohl Teraf=ren,

TTegT= T TSETETST SITSTT HITOfT
15 5000
20 4500
ferar

C) TmTUiET AfesashTel SeTsT U Sh1a? ANTUi=ar Jiasrehiely siersir feafae yerr fomg o,
D) HTTufi=aT wiersTehteti= et fohuT ot uga (fore T Ugd) fome &,

T A T B feham € amfor D 3 gei=ht 3 foe.

A) HHITE J5h FEUIST 2 HHSCATEH Sshrelt ATy foreg o .

B) SEetcaT JHTOTET fm fawe &,

feRam

C) ScATEHT=AT ST o Gl ST foIva .

D) JHTUTT=AT SITeT serct SATOT srererelt forsg &,

T4 A 3T B fekar € 3mfor D 3 e 39 foe.

A) STCIRIAT AT Selehrel= wataefier Bk T8 .

B) SR TFC = 55 {01 Wreflet Aifed! 2ot ST&aHT, TVC. MC, AFC, AVC 3ATfoT AC TS,

Q 1 2 3 4 5
TC 75 90 110 135 170
fRar

o ¢

C) U= AT TERT T FehraT SUANT e TqeiehTel= Tt sk (LAC) ShIeT . 3T Tkl

IERISEICEXC IR IIe:

D) 3TEH Tk FaUISl 7 ST e foI9g &,
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7§ A ST B AT Tt S ferer feha st wmer fout forer .
A. ST Sed o978 3, (a) ARTOMIE S)&et SO (b) EATI S&a.
B. | feig FEUTS! h1er? STl ieT SN o fore 1 foh Sigt fefime 3101 seetedr @reid et

fehar

feur forer: (uTeTE 9w

i) e SATOT TR

i) AmTofeaT Wit e T

iii) 9 ScdTe Ishi ThR

1v) JHTOT=AT AT ST

v) T nfor seerar @<

vi) gafeig fersgomm=ar e,

sk sfe sk sk sfe sk sk sk ke skeosk skskoskok sk

Page 11 of 11

9CO38EE614896F8B498AFED518A 69B88

go
€o

R0



